normalized X?

107

107

< X2/ ndf >
P oRP
N

< X2/ ndf >

<o pTIpT > (Yo)

Ratio

W2 4 6 8 10 12 14 16 18 20

Al .

[ normalized x? probability |

0.06
0.05f- -+ -
0.04
0.03

0.02

Entries 40066
= | Mean 0.4987
Std Dev 0.3264

XZ

oo ikalig!
0 010203040506070809 1
Prob(x2)

mmmm= DQM_TT__mkFit-DQM_original-0
e DQM_TT__mkFit-DQM_original-127
m——— DQM_TT__mkFit-DQM_mod-127

>

D __00
T

<op./p. > )

Ratio

101 1 10 102 pw3
T

Ul

iy

N
L L R e
-

10" 1 10 10? p103
T

< X2/ ndf >

Ratio

Ji 1T
TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

107 1072 107t
AR(track, jetg)



	Contents
	Page 1


